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Subtraction - 2

1.752-245=
a) 705 b) 507
c) 570 d) None of these
2.

H| T/ O

6 4 7

_ 7 9

a) 658 b) 568
c) 856 d) 658

3. There were 52 passengers in a bus. If 14 people got down at a stoppage, then how many passengers
remained in the bus?

a) 28 b) 18

c) 38 d) 39

4. In a store there were 545 apples, out of which 287 were sold. Then how many apples remained?
a) 285 b) 235

c) 245 d) 258

5. In a bottle there were 250 chocolates. John ate 15 chocolates and Bob ate 27 chocolates. How many
chocolates remained in the bottle?

a) 208 b) 280

c) 308 d) None of these
6. Bob has 350 marbles and John has 275 marbles. How many more marbles Bob has got?

a) 55 b) 65

c) 67 d) 75

7. 857 people came to see a cricket match. If 256 children were present to see the match, then what is
the number of adults?

a) 501 b) 601
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c) 701 d) 801

8. A lady got 780 sweets. She distributed 575 sweets among her friends. How many sweets remained
with her?

a) 502 b) 520
c) 205 d) None of these

9. In a train 872 people were travelling. 235 people got down in the first station and 23 people got down
in the second station. How many people remained in the train?

a) 641 b) 614
c) 624 d) None of these

10. There were 239 mangoes in a basket. 148 mangoes were sold, then how many mangoes were left in
the basket?

a) 91 b) 81

c) 78 d) None of these
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